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Note: Answer any FIVE full questions, choosing ONE full question from eflch module.

a. Explain the component modules S and their interactions *ith a neat diagram.

Assurne your own .r,irt..,(llffiJ[]
and relations. Mention the specifications also. (08 Marks)

a. lllustrate "three schema architecture" -,ln: neat diagram.
b. Define the followrng terms with example :

(D Data model
(ir) Complex attribute.
(iiD Recursive relationship
(iv) , Meta data.
(v) Composite attribute.

Module-2
a. Explain any tbur relational algebra operations with examples. (08 Marks)
b. Write the relationalalgebra queries to pertbrm the following on "Company database".

(i) Retrieve the name and address of all employees who work lor "Rescarch"
department.

(ii) Reirieve the names of employees, who have no dependants.

OR
a. Explain the different constraints that can be applied during table creation

example.
b. Desigii.the SQL queries for..the following database sihema :

Works(Pname, Cname, Salary)
Lives(Pname, Street, City)

" Located*in(Cname, Lcity)
Manager(Pname, Mgrname)
(r) Find the names of all persons who lives in the city "Bengaluru".
(ii) Find the names of all persons who lives and work in same city.
(iii) Find the surn of salaries of persons working in "wipro" company.
(iv) Find the names of all persons who work in "lnfbsys" and salary is between Rs.50,000

and Rs.90,000.

. Modute-3
a. Define view. lllustrate creatio, ofuiffiiif, * example.
b. Explain stored.proeedure. and its advantages. Give an example

Procedure. "", 
';"".

c. Explain the clasiification of four types of JDBC drivers.
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Explain a standard three-tier architecture, with a neat s&qJ,Wli (08 Marks)

Define cursor. Mention its advantages. Explain the ggna.'iiil f6rm of a cursor declaration.
(08 Marks)

Module:"4,' .,

Explain the informal design guidelines for creatlrg the relation schema,

Define normalization. Explain lNF and 2N,{ with suitable examples-."-,.==+

(08 Marks)
(08 Marks)

(10 Marks)
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Write an algorithm to find mir*#aI&over of functional dopendencies. Explain with an
-.f 'li =, /i n f, r- --r__\example.

Consider the two set of FD's,
F,, G -B,AB ; C, o -aej$+ E) and Fz : {R.+ gi, n + AE} for the relations

R = {A, B, C, D, E}. C@kvhether the two FD's ar-e,|qquivalent or not. Justifu your an

9a.

b.

10 a.

b.

ACLD properties of a

note on deadlock,

FD's are equivalent or not. Justifu your answer.
(06 Marks)

why concurency control is
(10 Marks)
(06 Marks)

(08 Marks)
(08 Marks)
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